[bookmark: _GoBack]Matematika 22.5.2020- 4. ročník
Úloha1: Opakujeme čo už vieme.
Odčítaj.
 4 654       6 885         4 505        8 825       6 931      5 561
-3 200     -3 039        -3 284      - 4 743     -5 662       - 282


Vypočítaj.
252 – (30 – 8) =                              2220  - (26 + 26) =
193  + (16 + 4)=                             (910 – 140) + 80 – 34=
576 – (28 + 22)=                             866 – (96 – 30)=
380 – (61 + 11)=                             585 + (25 + 6)=
1 910 – (73 – 40)=                         5 790 + (255 – 25) –1 143=

Dokážeš vydeliť?
5 000: 500=                                   3 600: 6=
3 600: 900=                                   240: 8=
1 500: 300=                                   450: 5=
5 600: 800=                                   810: 9=
1 500: 30=                                     2 700: 3=

Sčítaj.
4 654       6 885         4 505        8 825       6 931      5 561
3 200       3 039         3 284        4 743       5 662         282



Vynásob.

2.5 =	         3.6 =	            6.6 =
8.5 =                                      9.7 =		                     4.4 =
6.5 =                                      3.8 =			           7.6 =
9.9 =                                      8.8 =			           7.7 =
 

